SEP50308S (44POLE)

2-M10 X1.5 TAP,DP18 50 , 15

(SIDE STOPPER)
o
o]
o
(o]
o
[e0]

4-M10X1.5 TAP,DP18

(SIDE STOPPER)

| [ 2
|| > d )
o
140 185 190 185 140 | -
\
Isometric view (1:7)
44- M8 X1.25 TAP,DP8 28 222 340 222 28 4-M12X1.75 TAP,DP22 15 50 2_M10X1.5 TAP.DP18
(EX.POLE) (EYE BOLT) (SIDE STdPPER)’
g ‘ N Y ==_=
é» 3 4 ( A ! g 8
X o o o o || o 3 C 9 e
Al el e ° ° o (| o]
5 & © © C
Al Te) I ©
(ap] Al -
Al el e ° ° ol o
| o |
of| || ° ° ° o |l e 7 °©
| o
(e o]
Lo}
©™ ]
T— —~ —
4 i & |
POWER CONNETOR 45 190 30 310 30 190 45 4- )18 DRILL,THRU
(26 C'BORE,DP20
840 5
4-M10X1.5 TAP,DP18 ‘ ~
(SIDE STOPPER) T
I o
140 185 190 185 140 | -
T}
g @ - é 11
0 - [ | 3
© ‘ y [ ]
—J Detail A (2:3)
90 (SIDE SLOT)
A
Fas | N (V) (V) (VA7) | apesove me | SEP50308S00-HL _ASS'Y |om| 1
we o [ [ 610 | oo A v e
e ] ;O o TRET#WTENT H:.C N/A CHECKED NODEL MAT. N/A scale| 1/4
60 w2 (TAONESS N/A r—
r o :Eg TREATHENT N/A DESIGNED SJ.KIM e o AD SEPSOSOSSOO_HL 1/1 JD
SUFFIX MARK SUBJECT DATE NAME CHEGKED ;ggg : iggg :125 ngmgﬁT N/A DRAWN When N/A Cy%%ololﬂxl

A2 (597x420)

(3] Y7 =H2 NPE NFUS 40 RO, 'Y JYYN| N FYUUIUQ B0 U HES XYOH0] AH U0 Ot L (HYO0] j= YAUHIY, NUIYR SS ZYOID US £ UASUCH 2 A0 ZYHE YR M TE= ULSE QTOZ MI3NMO0IH 3, IR, SN E= NH0H= HS YHOI SN,




